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= 50+ 20 X 7 = 50 + 140 = 190( cm?)
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ImxImx1.2m=1.2m3

ZF2 1100 + 10 = 10(7H) ,

AZ 1100+ 10 = 10(7H) ,

o] 1120+ 10 = 12(7H)

=10 x 10 x 12 = 1200( 71)




7Y27} 12cm, AMZ7F 14cml F
Ul Aol A

= A~
=5

160 cm?

& Fol2 A1, o
g wo] 2ol7} 20mel AR L &
ek, o] A7te] Rk B emd U7}

7t=
A= :
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12— 4 = 8(cm)
14 -4 = 10(cm)
- 2cm

8 x 10 x 2 = 160( cm?)
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(1) = (7F=) x (AI2) x (£°]) °|2=2
6><|:|><3:72(cm3)

18x[ _|=172

[ ]=72+18

[ 1= 4(cm)
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_(FY 2e AguA el )
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— 168 — 17.64 = 150.36( cm?)




8. O& X3 FHE AL,

I
I
I
AN 4cm
/ =5 CM /
/ | ’
” | J
' l
7cm :
\ I
\ T C [~
\\ , !
N\ 3cm
~~7cm----
> cm®
> ®ED 123cm?
1 S
I \
1 \
A , 4cm
S| e em’ /
1 U
/ :® b
1 ,f ===
Tem|
1 / 1
\ / 1
\‘\ /;'“‘@ ______ _-‘
/ 0
\ pa ,3Cm
~Tem---T

o] ARE (D) T oFRARE (@) & Vo] 73 v 5t
@] H1]: (5x3)x4=060(cm?)

@2] B (7% 3)x3=063(cm?)

b @ + @ = 60 + 63 = 123(cm?)




2 oA,

o]

il

o,

—r

_ 1
=30 27} 76] m?

©
)

ot

9.

— 1

3

® 3

@)2

o




10. o= =99 Fulg F5HA L.

>
> = 1512cmd

7F2 9em, A2 12cm Q) AAZEE AW o2 Sho] ol [ ]
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(BHol)= (9x12)x 2+ (9+12) x2x[ | =804

216 + 42 x|_| = 804

42x[ ]=588

[ ]=14(cm)

(F3]) = 9x12x 14 = 1512( cm?)
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L] Z27F 32cmQl ASHA Y] §F R A2 9] Hol=32+4 =
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= 384(cm?)

— o~ —




17. the ANEE WS AL AKUA Y 2HolS FaHAL,

.Seme
2cm
\ o . .

[

| | : 2lCIn

| | | !

| L _
O 72cm? @) 76 cm? ® 80cm?
@ 84cm? ® 88cm?

(bx2)x2+(5+2+5+2)x4
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298 cm?

A=A o] Aylol= (BHol)x2+(F4Eel) ,
(Tx4)x2+ {(T+4+7+4)x11}
= 28 X 2 + 242 = 56 + 242 = 298( cm?)
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228 cm?

25 9] 2ylol)=(EH ol)x2+(2Hel),
Ix4)x2+{(9+4+9+4)x6}
=36 X2+ 156 = 72 4 156 = 228(cm?)
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0.5% 0.8 x 0.2 = 0.08(m?)
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0.6 X 0.7 X 0.3 = 0.126( m?)
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@ & BAE ] Ao|7t 1.2m 1 HKHA ] Hox]
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(F1)=11x 11 x 11 = 1331(cm?)
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1000000 cm® = 1 m?
w24l 3200000 cm®= 3.2 m?
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